
Corrigé DS n° 2 

Moyenne 9 / 20 ; meilleure note 17/20 

Exercice 1 

1) (3𝑥 − 9)(𝑥 − 4) ≥ 0 

x −∞  3  4  +∞ 

3x – 9   - 0 +  +  

x - 4  -  - 0 +  

P  + 0 - 0 +  

𝑆 =] − ∞; 3] ∪ [4; ∞[ 

2)   
5 − 𝑥

2 + 𝑥
≤ 0 

x −∞  -2  5  +∞ 

2 + x   - 0 +  +  

5 - x  +  + 0 -  

Q  - // + 0 -  

𝑆 =] − ∞; −2[∪ [5; +∞[ 

3)      
(𝑥 + 2)(𝑥2 + 1)

𝑥 − 3
≥ 0 

x −∞  -2  3  +∞ 

x + 2    - 0 +  +  

x – 3   -  - 0 +  

x² + 1   +  +  +  

Q  + 0 - // +  

𝑆 =] − ∞; −2] ∪]3; +∞[ 

Exercice 2 

1)     
3𝑥 − 5

𝑥 + 5
= 0 ⇔ 3𝑥 − 5 = 0 ⇔ 𝑥 =

5

3
 

 

2)          
4𝑥 − 6

𝑥 + 2
= 5 ⟺ 4𝑥 − 6 = 5(𝑥 + 2) ⟺ 4𝑥 − 6 = 5𝑥 + 10 ⟺ −𝑥 = 16 

⟺ 𝑥 = −16 

Exercice 3 

1)  (𝑥 + 5)2 − 49 ≥ 0 ⟺ (𝑥 + 5 − 7)(𝑥 + 5 + 7) ≥ 0 ⟺ (𝑥 − 2)(𝑥 + 12) ≥ 0 

x −∞  -12  2  +∞ 

x + 12   - 0 +  +  

x – 2   -  - 0 +  

P  + 0 - 0 +  

𝑆 =] − ∞; −12] ∪ [2; +∞[ 

2)   
3𝑥 − 8

𝑥 + 3
≤ 4 ⟺

3𝑥 − 8 − 4(𝑥 + 3)

𝑥 + 3
≤ 0 ⟺

−𝑥 − 20

𝑥 + 3
≤ 0 

x −∞  -20  -3  +∞ 

-x – 2 0   + 0 -  -  

x + 3   -  - 0 +  

Q  - 0 + // -  

𝑆 =] − ∞; −20] ∪] − 3; +∞[ 



Corrigé DS n° 2 

Moyenne 9 / 20 ; meilleure note 17/20 

Exercice 4 

1) (2𝑥 − 5)(4 − 𝑥) = 8𝑥 − 2𝑥2 − 20 + 5𝑥 = −2𝑥2 + 13𝑥 − 20 = 𝑓(𝑥) 

2) 𝑓(0) = −20 

3) (2𝑥 − 5)(4 − 𝑥) ≥ 0 

x −∞  5/2  4  +∞ 

2x – 5   - 0 +  +  

4 – x   +  + 0 -  

f(x)   - 0 + 0 -  

𝑆 = [
5

2
; 4] 

4) 𝑓(𝑥) = −20 ⟺ −2𝑥2 + 13𝑥 − 20 = −20 ⟺ −2𝑥2 + 13𝑥 = 0 

⟺ 𝑥(−2𝑥 + 13) = 0 ⟺ 𝑥 = 0 𝑜𝑢 𝑥 = 13/2 

Exercice 5 

1) 𝐴𝑖𝑟𝑒 = 3𝑥2 + 2 ×
𝑥

2
× 6 = 3𝑥2 + 6𝑥 

2) 3𝑥2 + 6𝑥 ≤ 360 

3) 3(𝑥 + 12)(𝑥 − 10) = 3(𝑥2 − 10𝑥 + 12𝑥 − 120) = 3𝑥2 + 6𝑥 − 360 

4) 3𝑥2 + 6𝑥 ≤ 360 ⟺ 3(𝑥 + 12)(𝑥 − 10) ≤ 0 

x −∞  -12  10  +∞ 

x + 12   - 0 +  +  

x – 10   -  - 0 +  

P  + 0 - 0 +  

𝑆 = [−12; 10] 

La valeur de x doit donc être inférieure à 10 cm . 

 

Barème 

Exercice 1 : 1 + 1,5 +1,5 

Exercice 2 : 1,5 + 1,5 

Exercice 3 : 1,5 + 1,5 

Exercice 4 : 1 + 1 +1,5 + 1,5 

Exercice 5 : 1,5 + 1 + 1 + 1,5 

 

 


